Please note that you have 5 questioﬁé and 5 pages

1) (42 points) Evaluate the following integrals.
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2) (10 points) Determine whether the following improper integral converges or
diverges. Give reasons for your answer.
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3) (8 points) Determine whether the following sequence {an }, n 272 converge or
diverge. Give reasons for your answer,
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4) (26 points) Test the following series for convergence and divergence. lee Teasons
for your answers. If a series converges, find its sum.
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5) (14 points) Determine whether the following series is absolutely convergent,
conditionally convergent, or divergent. Give reasons for your answers.

SEUOD b s
S nfin-3 ;
Do Lo _he go(ae) A R o) oo
T aduas T wn-3, T dalae
W -»(.L; (v ore (A< L2 PN cll.cwuu:u&
Liaid Conusion Tk o2 ](_LILLL) b bk if ik e ool
s (ocdilonclly

Lo Qo) oy ) ()
o0 A Jgn-3 - Ao NSl - Ba = VA Ju-54 = |

\-/JT; > \/J; \/}E{
CShe L Qutgs | Se He Az Coww%us MW%

W

o

" 5/5



- Notre Dame University
Faculty of Natural and Applied Sciences
Department of Mathematics and Statistics

_ MAT 213
“Calculus I
Exam #1
Monday November 5, 2007
Duration: 60 minutes
Name:
Section:

Instructor: De. Molkeh Wo vrouz
{

Grade: AK

Directions

1. Write neatly and clearly.

2. Do not use pencils unless for graphing.
3. Only scientific calculators are allowed.

Please note that vou have 5 exercises and a total number of 9
pasces and that vour mobile must be turned off and unseen
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1) (20 points) Evaluate:
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2) (16 points) Test the following integrals for convergence or divergence:
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3) (24 points) Determine whether the following sequences converge of diverge. If 1t
converges, find its limit.
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4) (20 points) Consider the polar coordinate curve: r = 2sin(28)
a) (5 points) Identify the type(s) of symmetry satisfied by the graph.
b) (5 poirts) Sketch the curve.
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c) (10 [ioints) Find the equation of the tangent to the curve atd = %
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5) (20 points} Find the area of the region shared by the 01rcIe r = 2 and the cardioid
r=2—2cosf. - -
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Notre Dame University
Faculty of Natural and Applied Sciences
Department of Mathematics and Statistics

MAT 213 |
" Calculus III
Exam #2
Monday December 17, 2007
Duration: 60 minutes

Name:

— o me— . _ -

Section: o«

Instructor: pr. Molheb Keyrow =
!

Grade: J e (o

Directions

Scientific calculators are allowed

Please note that vou have 5 exercises and a total number of 7
pages and that your mobile must be turned off and unseen
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1) (14 points) Say whether the following statements are TRUE or FALSE. When
FALSE, give a counterexample:

a) Given that 0 <a, <b, and that an diverges, then Zan diverges.
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2) (40 points) Test the following series for convergence or divergence. Justify your answer.
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3) (12 points) Determine whether the following series converges absolutely, converges
1
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4) (18 points) Consider the power series: (x ;f)
A=l n

% Find the series radius and interval of convergence. For what values of x does the senies

converge absolutely, conditionally or diverge?
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5) (16 points) Find the first four nonzero terms for f {x)=e" cosx by multiplying

together the MacLaurin series for ¢* and for cosx.
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